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£ IEE o1 o0 101 | 320 | 69.0
Kig Bz o1 44 95 18.8 | 76.2
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X% =B 40 36 76 8.0 | 68.0
Bl IFEBH 43 38 81 12.8 | 68.2
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3L |)IUg FIFE 212.0 R R S
EA BF 44 40 84 140 | 70.0
% LIfH 43 42 85 140 | 71.0
JIE FIE 41 44 85 140 | 71.0
ke T8 49 42 91 18.8 | 72.2
ML BT RE 213.0
ER & o1 45 96 | 27.2  68.8
=H =5 47 45 92 200 | 720
T B 48 43 91 18.8 | 72.2
BT RE 46 45 91 16.4 | 74.6
501 |BEE =T 213.8
my AS 47 44 91 224 | 68.6
RE =T 39 37 76 2.6 | 704
I AR o4 48 102 | 272 | 748
g = o4 29 113 | 356 | 774
661 (FTIR FEE 214 .4
MR &3 41 43 84 140 | 70.0
Mg EF 45 42 87 152 | 71.8
KIS R 39 38 11 44 | 726
I\ HxX 99 43 98 | 21.2 | 76.8
L |¥AAR BRF 215.2
WA HF 44 42 86 17.6 | 68.4
mAR B{xX 44 42 86 140 | 720
mH AEF 48 48 96 | 212 | 748
He KUF 49 44 93 176 | 754
sfir |Jllum FO4E 215.8
T &i& 41 41 82 12.8 | 69.2
Jim F04K o0 44 94 | 212 | 728
T £ o1 o0 101 | 27.2 | 73.8
EE RKE o0 48 98 | 236 | 744
of [KEH EF 216.0
h¥ FE— 48 46 94 | 236 | 704
FEHE /A 43 42 85 128 | 72.2
FEE EF 99 o4 109 | 35.6 | 734
IR &E—EBf o1 44 95 | 212 | 738




106z |5t 1EA 216.0
mll ks 00 44 94 224 | 716
E® BhAA 49 44 93 212 718
it EA 40 37 17 44 | 726
= H B 56 51 107 320 750
14z (/g B 216.8
BE & 44 36 80 92 | 70.8
N B 55 39 94 21.2 728
g k= 46 40 86 128 | 73.2
F2 = 54 42 96 164 | 79.6
1241 |FEAR HAT 2174
HFA HIT 48 51 99 272 718
fHEF FOK 54 48 102 296 | 724
HE &9 92 46 98 248 | 73.2
£H BH&E 56 56 112 308 81.2
1361 (B AL 217.6
=5 X 48 40 88 164 | 71.6
=S fEA 92 43 95 224 | 726
=) AL 50 41 91 176 | 734
AR )Y 66 61 127  36.0  91.0
14462 |/MVIR IEE 218.0
BA & 41 39 80 92 | 70.8
AR 1HLF 43 44 87 140 | 73.0
INK IEE 44 43 87 128 | 74.2
EI & 48 39 87 | 116 | 754
1561 [BRE = 218.0
A FEF o1 53 104 332 708
R 85— 49 43 92 18.8 | 73.2
BE & 46 48 94 200 740
JIE BE 63 55 118 | 344 83.6
166 |2 K IER 219.8
KiI Bf 47 42 89 176 | 714
AR BUZ 49 42 91 176 | 734
2K ER 47 48 95 200 | 750
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R Uh 49 46 95 224 | 726
A g— 48 47 95 224 | 726
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£% IE 45 41 86 140 | 720
He <8 47 42 89 152 | 73.8
giHE &8 49 45 94 200 740
1941 |FEEy *Z 220.2
THE AX 47 46 93 224 | 70.6
B OfEE 50 957 107 344 726
e KT 95 48 103 260 770
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IR F03] 45 43 88 15.2 | 72.8
=)l = 48 46 94 200 740
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e R 55 46 101 248 76.2
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HE BF 42 42 84 128 | 71.2
sy BTF 52 43 95 200 | 75.0
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Bk 8T 40 42 82 92 | 728
e EE 42 43 85 116 | 734
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241 |TBAR HXF 222.6
hE HFF 52 51 103 320  71.0
PR &=i# 54 45 99 236 | 754
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i B F 41 43 84 128 | 71.2
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1IER X 52 47 99 200 | 79.0
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i BF 48 47 95 200 | 750
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INEY RERE 53 49 102 272 7438
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IR BE—ER 93 46 99 18.8 | 80.2
2841 &Il FRK 226.6
BRIl FK 44 42 86 140 | 720
FELll 5# 46 45 91 152 | 758
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294 |#0H X — 2274
Bi5 HR 94 49 103 296 | 734
HE =E— 47 55 102 272 748
AE X— o7 47 104 248 79.2
30fI |BH FEHE 229.2
FH EF 51 52 103 284 746
BH ZH 47 49 96 212 748
MH EF 52 55 107 272 798




FA FE=E 58 46 104  21.2 | 828
3141 |[RLL FEsE 231.0

S I E 53 49 102 | 26.0  76.0

AL FExE 57 50 107 | 30.8 | 76.2

Pk =F 56 50 106 27.2 78.8
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